Electronic Torqgue VVWWrench

Electronic torque value readout

Peak hold and track mode selection

Angle accuracy (34387/34487)

Buzzer and LED indicator for preseting target torque
Engineering units (Nm, ft.Ib, in.Ib, kgf.m ) adjustment
Switch off automatically after 80 seconds

DIN ISO 6789 & ASME B107.300-2010 1 Nm =0.738 ft.Io. = 0.102 kgf.m
: 1ftlb. = 1.356 Nm = 0.138 kgf.
CW £2% and CCW +3% operation o Nﬁ s k%f.?m

Quick release

- LCD C€

Battery Cap
e Electronic Torque Wrench (34367-2AG, 34467-1AG)
+ (ncrease) Preset Torque Accuracy CW 2% / CCW = 3%
5 Preset function 10
LED uzzer Battery Cap
Display Resolution ?(]) {\ér?n/ o9, O Lo,
Operation Mode Peak/Track
Unit Selection kg.m., lb.in, Ib.ft, Nm
- (Decrease) () Clean /& (Backight) Gear Teeth 36
bk Track Battery AAA x 3 PC.
AC! rac .
. 110 hrs (continuous
Battery Life operation)
r“'\ Operating Ambient o ° o o
e Electronic Torque Angle-controlled Wrench /f.g{ Tempero’rgure -10C-60C (13.9F-139.9F)
(34387-2AG. 34487-1AG) & Storage Temperature  -20°C-70°C (-4°F-157.9°F)

Preset

Operating Relative
Humidity

Baftery Cap syitch off Automatically

+ (Increase) LCD

Angle 15 to 90% noncondensing

Buzzer

LED 80 seconds (if do not use

torque wrench)

(1% of
reading)+(x1%@angular
Angle Accuracy velocity >10°/sec < 180/
sec)+

(1% of Text Texture)

- (Decrease) " Clean /25- Backiight)

Pack / Track Oo 36 o
Angle >
(34387-2AG,34487-1AG)
Dual Scale - English & Newton Meter (in. lb. / ff. lb. & Nm / kg.m)
Square Torque Range Overall Length g
KINO.  “Brive Nm ff. Ib. in. . kgm mm IO

34367-2AG 3/8" 27-135 Nm 19.9-99.6 ft. Ib. 239~11951n. Ib. 2.76~13.76 kgf.m 460 1400 1/6
34467-1AG 1/2" 40-200 Nm 29.5-147.5 ft. Ib. 354~1770in. lb. 4.08~20.38 kgf.m 530 1500 1/6
34387-2AG 3/8" 27-135 Nm 19.9-99.6 ft. Ib. 239~11951n. Ib. 2.75~13.76 kgf.m 460 1400 1/6
34487-1AG 1/2" 40-200 Nm 29.5-147.5 ft. Ib. 354~1770in. Ib. 4.08~20.38 kgf.m 530 1500 1/6

ﬁ 1. Do not press "M" and " ()" button together
otherwise system will enter in calibration mode.
BN 2. Switch off the power after use.
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